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Note: Data are based on a fsk-free rate of 2.3%.

constraints of 7% on single-country positions:

Frazee decides to add a fourth offering to his group of funds, Fund W, which will use the same benchmark as in
Exhibit 1. Frazee estimates Fund W's information ratio to be 0.35. [ R Reat et R i ke e ]
constraint to his portfolio construction model: Fund W would now have maximum over- and underweight
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Practice Problem
Q. Based on Exhibit 1, combining Fund W with a fund that replicates the benchmark would produce a

Sharpe ratio closest to:

A.044
B.056
C.089

Solution
Bis correct. Given the IR for Fund W of 0.35 and the benchmark’s SR of 0.44, the combination of the
benchmark portfolio and Fund W would produce an SR of 0.56, calculated as follows:

SR} = SR} + IR?

SR, = (0.442 + 0.35)°5 = 0.56.





